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Choose Set A, B or C and to identify the place value of each digit. Set C is the most challenging. 
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TARGET To identify the place value of each digit in a number.

The value of a digt depends upon s plac n the number.
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1) a) Rhys must sort these numbers
into groups. Each number can
only be sorted once. Can you
help him sort as many of the numbers
as possible into the correct groups?

+  Numbers between 5.5 million and 6.5 million

+  Numbers between 550 000 and 650 000

559 600 589 564 5946 564 6299 956
6489 564 6 549 000 5642956 599 600
6501 956 649 560 7199 000 5 449 000

b) Rhys says that the remaining numbers can all
be sorted into the group:
Numbers between | 000 000 and 2 000 000,

Explain why Rhys'’s statement is incorrect.

€) Usethe statement:
‘Numbers between —_____and
to think of a group that he could correctly
sort the remaining numbers into instead.





